
XY PLOTTER ROBOT KIT



1x9g Micro Servo Pack

6xPlastic Rivet R4100

30xNylon Cable Ties

3xMe RJ25 Adapter

1xWall Adapter Power Supply-12VDC

2x6P6C RJ25 Cable-20cm

2x6P6C RJ25 Cable-35cm

2x6P6C RJ25 Cable-50cm

1xUSB 2.0 A-Male to Micro B-Male Cable

1xMicro Swtich Cable-90cm
1xBase Bracket B

5xRubber band

4xFoot pad

1xOrion

2xMe Stepper Motor Driver

4xMe Micro Switch B

6xLinear Motion Slide Unit 8mm

4xPlastic Ring 4x7x2mm

1xWrench 7mm&5mm

2xHEX Allen Key 1.5mm

1xCross &2.5 HEX Screwdriver

10xFlange Bearing 4x8x3mm

20CM

35CM

50CM

5xBracket U1

10xShaft Collar 4mm

6xTiming Pulley 18T

31xScrew M4x8

21xScrew M4x14

15xScrew M4x16

12xScrew M4x22

18xScrew M4x30

10xCountersunk Screw M3x8

26xHeadless Set Screw M3x5

50xNut M4

16xPlastic Rivet R4060
5xPlate 3x6

2x42BYG Stepper Motor

2x42BYG Stepper Motor Bracket

1xFlexible coupling 4x4mm

4xLinear Motion Shaft D8x496mm

1xLinear Motion Shaft D4x512mm

1xLinear Motion Shaft D4x80mm

1xBeam 0824-16 

Part Lists

4xBeam 0824-48

1xBeam 0824-80

4xBeam 0824-96

2xBeam 0824-112

1xBeam 0808-72

2xBeam 2424-504

2xBeam 0824-496

1xThreaded Shaft 4x39mm

2xD Shaft 4x56mm

2xBracket 3x3

1xBelt Connector

4xCuttable Linkage 3

3xOpen-end Timing Belt(1.3)



2

X2

X2

X2

X4

X4

X4

X12

X8

X8

X2

X2

X2

X

X

X

X

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30
M4x30

M4x14

1 2

3 4

1



X4

X8

X2

3mm

A

A

B

B 8mm

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x8
M4x8

M4x8

1 2

3 4

43



X4

X2

X8

X7

X11

X1

X1

Plastic Ring 4x7x2mm

A

A

B

B

C

C

D

D

65



X1

X1

X1

X1

X1

X1

X2

X4

X4

X6 X9 M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x16

M4x16

1 2

3 4

87



X1

X2

X1

X4

X2

X2

X1

X2

X1

X4

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x8

136mm

1 2

3 4

109



X4

X2

X8

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x22

M4x22

1 2

3 4

A
A

B

B

1211



X1

X1

X2

X2

X3

X4

X1

X1

X4

X1

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x16

M4x14

1 2

3 4

1413



X1

X1

X2

X2

X3

X1

X1

X2

X4 M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x14M4x8

80mm

1 2

3 4

1615



X1

X4

X2

X2

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x14

M4x14 M4x14

1 2

3 4

1817



X1

X1

X2

X3

X1

X1

X2

X1

X2

X2

X1

X1

X1X3

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x30

Plastic Ring 4x7x2mm

M4x8M2 Nut

M4 Nut

1 2

3 4

2019



X2

X2

X2

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x16 M4x16

1 2

3 4

2221



X1

X1

X2

X4

X4

X1

X1

X1

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x16

M4x14

rubber band

M4x8

1 2

3 4

2423



X1

X2

X2

X2

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

1 2

3 4

2625



X4

X2

X8

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M4x8

M4x8

1 2

3 4

2827



X1

X1

X1

X2

X2

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30

M
4x

8

M
4x

14

M
4x

16

M
4x

22

M
4x

30 M4x8

You need to buy a laser-engraver-upgrade-pack

SKU:98003

1 2

3 4

3029



Power

Limit Switch1

Limit Switch2

Limit Switch3

Limit Switch4

Adapter_2 Adapter_1
Adapter_2

Adapter_3

Adapter_1

Adapter_3
StepperDriver_X 

StepperDriver_X 

StepperDriver_Y 

StepperMotor_X 

StepperMotor_Y

StepperMotor_X 

StepperMotor_Y 

StepperDriver_Y 

50CM

Length(CM)

50CM

35CM

20CM

20CM

Connect to  computer

Limit Switch1

Limit Switch2Limit Switch3

Limit Switch4

M2

Focusing knob

Microstep
Re on:HHL

Slot2

Slot1

Slot1

Slot2

Slot2

3231




